

Healthy Health For Every One

HERBALDIETS

Customer Based Fast Track Plan to reach every customer

Great Opportunity to participate for all Customers registered as Health Promoters your participation is a source and inspiration for others for this Healthy Health Campaign

- * Today every individual is weak or ill due to poisons through food, water & air.
- * Herbaldiets pure herbal supplements has very important role for building & strengthening every individuals health.
- * Herbaldiets wide range of products from children to any old age problems like
 Childless Couple, Weak Children by birth, Pregnant Mothers, Adolescent Age Growth Boys & Girls,
 Weight Loss, Diabetic, B.P. & Heart, Joint Pains, Asthma, Skin Problems, Male sexual Weaknesses
 and low sperm count, Ladies Problems Like Monthly cycle, Leucorrhea, Menopause related problems,
 Drug Addicts, Uric Acid, Acidity, Liver related problems Fatty Liver, Digestion,
 Appetite, Cough & Cold, Memory & Nervous System.

Purchase of S H C P on your ID For Rs. 2200/Introduce 5 customers direct in your team & sell them Combo Pack
Congratulations you have entered into 12.20 crore 9-Level Income Plan



Use Herbaldiets - Live Disease Free Life

HERBALDIETS

Introduces Super Healthy Combo Pack A Fast Track Method to Reach Customers

- A customer based MOVEMENT "Mission Health" to introduce Herbaldiets Health Supplements to build Healthy Life of each & every individual to form a HUMAN CHAIN of healthy indviduals.
 - * Use Herbaldiets Products yourself or in your family and get satisfactory results.
 - * To participate in Fast Track 9-Level Income Plan every participant has to purchase Super Healthy Combo Pack on your personal ID.
 - * Free Registration with permanent ID as health promoter for every customer on purchase of Combo Pack.
 - * Every customer converted Health Promoter has to fill joining form with company and to provide photograph ID Proof, Pan Card & Bank Details.
 - * Health Promoters at all levels have to purchase Super Healthy Combo Pack to participate in fast track 9-Level Income Plan.
 - * Super Healthy Combo Pack is allotted 30 Volume Points to calculate bonus
 - * One ID can purchase only one Super Healthy Combo Pack up to 9-Level Income Plan

9 - Level Income Plan

* To Participate in Fast Track 9-Level Income Plan purchase of SHCP and introduce/sell minimum 5 direct SHCP to complete your First Level.

* Only first level completion is compulsory for receiving incentives from 9-Level.

11- Levels	Each Sponsor 3	Level wise Income	Total Income
Level l	$1 \times 5 = 5$	1st Level income Per person Rs. 300	Rs.1500
Level 2	$5 \times 5 = 25$	2nd Level income Per person Rs. 100	Rs. 2500
Level 3	$25 \times 5 = 125$	3rd Level income Per person Rs. 100	Rs. 12500
Level 4	$125 \times 5 = 625$	4th Level incomePer person Rs. 50	Rs. 31250
Level 5	$625 \times 5 = 3125$	5th Level income Per person Rs. 50	Rs. 156250
Level 6	$3125 \times 5 = 15625$	6th Level income Per person Rs. 50	Rs. 781250
Level 7	$15625 \times 5 = 78125$	7th Level income Per person Rs. 50	Rs. 3906250
Level 8	$78125 \times 5 = 390625$	8th Level income Per person Rs. 50	Rs. 19531250
Level 9	$390625 \times 5 = 1953125$	6th Level income Per person Rs. 50	Rs. 9,76,56,250

Purchase Super Healthy Combo Pack on your ID.

Introduced 5 direct sponsored customers sell Super Healthy Combo Pack.

Earn Total Income of Rs. 122079000/- from 9-Levels

Life Changing Awards For Every One On Completion of all 4-Levels, 6-Levels, 7-Levels, 8-Levels & 9-Levels 10% Bonus on company turnover for sales of SHCP based on V.P's 2% Bonus based on V.P's Enter into Chairman Club after completion of 9 Levels

Awards For Everyone on completion of different Levels





On Completion of 4-Levels

On Completion of 6-Levels





On Completion of 7-Levels

On Completion of 8-Levels





Chairman Club bonus 2%

Lifetime Chairman Club

Combo pack vol. based
bonus 2%

After completion of 9 levels
you will get Lifetime
Chairman Club Bonus 2%
of company combo pack

turnover equally divided

into all achievers.

All future re-purchases of products by any customer turned health promoters will be added and calculated in our initial generation business plan

- Herbaldiets introduces 100% customer based Fast Track Plan to involve maximum people for Healthy Health Campaign
- Responsibility for every participant for this Healthy Health Campaign is by purchasing Super Healthy Combo Pack on your ID and introduce/sell the same to five people.
- This Campaign is total team work starts from you as group leader.
- This Campaign starts from you and your 5 people and your 6th and above sales will be placed under you in your group.

CONTACT PERSON

Herbalways Diets Pvt. Ltd.

Name	146-147, Gujral Nagar, Market, Near T.V. Station, Jalandha
Address	Ph.: 0181-5001101, 5001102, 5001105, 5001106
riuitess —	Mob.: 98763-50005, 90828-50005, 90827-50005
Mob. No.	Email : herbalwaysdiets@yahoo.com , sp.herbaldiets@gmail.com